Parson’s Juniper (Juniperus parsonii)
1-gallon (6.4”) container
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Parson’s Juniper (Juniperus parsonii)
3-gallon (10”) container
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Indian Hawthorn (Raphiolepis indica)
1-gallon (6.4”) container
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Indian Hawthorn (Raphiolepis indica)
3-gallon (10”) container
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Japanese Privet (Ligustrum japonicum)
1-gallon (6.4”) container

=)}
=
S
>
)
=
mall plant 2
width = 127 -
height = 12” g"
=
=
=
=
0” 1.5” 3” spacing
1.3 1.6 1.9 capture factor
Japanese Privet (Ligustrum japonicum)
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Japanese Privet (Ligustrum japonicum)
3-gallon (10”) container
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